Time: 3 hours

9. “Formal organisation is considered better than informal org nis
10. Why does informal organisation exist within the framewprlqu
11. Formal organisation leads to delay in work and lack of initiati
12. “If we delegate the authority we multiply it by two, if we d

13. A company is manufacturing Televisions, Refrigerators

14. The directors of Shiv Electronics, an organisation manufac’tuf
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er units called departments” is the second stepin the Procesg o Y i
ong. I8

1. ‘Grouping similar nature jobs into larg
the functions of management. Identify the function. (8
2. How does organisinglead to specialisation? Fe ﬂ) 3
3. Sarthak Drugs Ltd. is engaged in the production of two drug prqducts - pamklilers and beauty ¢ 1]
The Board of Directors insist on adopting ‘Functional Organisational Structure’. Are the directopg n;]:th |
LR

their decision? Give reasons in support of your answer. )
It has its registered office in&Ko ) §

4. Ajanta Foods Ltd. is engaged in the trading of ‘Noodles”. . . offic _
manufacturing unit in Solan and marketing department at Delhi. Which type of organisationg] St '
T &

the company should adopt to achieve its target? il
Ansh Medicines International Pvt. Ltd. is a diversified company and has seven branches all over th, s ld} ¥

<k
Each branch is concerned with the production and sales of only one type of medicine. What type
organisational structure would you suggest for the company? (;))f :
6. Name and explain briefly the type of organisationinwhich: : i
(a) Friendly relationship exists among the members e :
(b) Official relationship exists among the members. _
7. Differentiate between formal and informal organisation on the basi
8. National Vritech Ltd. has grown in size. It was a market leader but with
and with the entry of MNCs its market share is declining. To cope up. e sit
delegating some of his authority to the General Manager, whoalso felt himself ove rdened and Wlththe
approval of CEO disperses some of his authority to various level throughout the orgar n. Identify th,
concept of management discussed above. o 5 bk,

Give three reasons.
for the emergence of informal organisations.

What changes should be introduced in the organisation structure

ecent
with an example. A
stoves using different productive resources and is at the thres
Suggest a suitable organisational structure for this company gi

explain any two advantages of this structure of organising.

Marketing Manager to achieve a targetsale of ¥ 500000 perday.S
Deputy Sales Manager working under him. Manav. could no
the failure of Manav? State the relevant principle in supportof
Can an over-burdened manager take help from his subordi ‘
which he should keep in mind while taking such help? :
In an organisation formal organisation is followed strictly where th
directions only. The employees are performing under pressure. In your v
this company? Identify any two values ignored by this organisation.

ey
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(7, Distinguishbeteen Belegation

(a) S€OP€
! (c) Nature
) ,Dcccnlralisation isan imp()rtant phx]
' : 08 :
statement, explainany four points o fimggl:é;hah?‘p
ceof d

andDecen tralisation’ on the basis of:

(b) Purpose ' z
'(d) Freedom of action
lies selective dispersal of authority.' In the light of this

is meant by “Functional ecentralisation.

19 What '15 n:"»an a Sh‘uct-urel ) on.
orgamﬁﬂtlonal structure, of an organisation? State any three advantages of this form(i)f
(4)

20, Interaction among people at work gives rise to 5 - -

| . g 1 =) ; i a netw 1 . e,
oot b B L it gumons employ oo s
contrac ¢ }; e ‘orced. into rigid formal s trucmc y defined roles. When people have frequent
they ten }dt.o t§>rmbgrou;.>s which show conformity in te- Rather.based on their interaction and friendship
mentionedin the above lines and stateits any four char erms of interest. Name the form of relationships

-h function of . acteristics. ' i

21. thc]h turls 1;)}11 n: ntla;}aggment is concerned vwithlcp TN b St ©)
people to work most eftectively together in accomplishing Objegcévést;(:ﬁmihm:hepurpose 'ch(i)s‘f :unna&mg
objectives? Explain the process o on.

22, What is meant by ‘Divisional Structure’ of an organisation? For which type of business enterprises i ﬂ(‘z
? siness entery 15
nal structs ©)

t stsuitable? :
structure most suitable? State any three disadvantages of this form
93, Which function of management coordinates h :
unified whole to be utilised for achievi Lan efforts, assemb
g eving specified objectives?
points. = s
24, Distin gu1s}.1 between functional and divisional structure on the
(a) Formation (b) %
(c) Responsibility : ) 2peS
(e) Cost :
25, An.oop Gaur started 'Cast's Eye', a company fOnp viding cybe: g«;gg
objective was to prevent, detect, respond to cyber s and protect criti
software engineer and an expert in cyber security. His reputation
only a person of integrity but also did his work w1thutm:@ t honesty and
growing day by day. i Rt
He was delighted when he was offered a big pr j
working on the project he found that the volume of wo 1
by himself. Therefore he decided to expand the tear 0
engineering college in the State. During a campus pla
for the new project. v S
He found the new employees capable, enthusiasticand trus
the objectives and with the help of Aarav and Prans
Anoop Gaur was also able to extend his area of opera
opportunities to develop and exerciseinitiative.
(a) Identify and briefly explain the concept used by

focusing on objectives. , =
(b) Also, explainany four points of importance of the conceptiden
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